1 5% &1 181 T 1 (X]

B4 E SR t=22mm_A=165m2

NO. 1+9. 5(BC2)

GH=248.T73 =%
FH=249.77

R R

BHEUR

73]

2R

EHI

Bt

BEEEY (LB
BLEERY (FB)
BET (LB

{Azea) 1=5.3

%8 B A T i X

1R R E B (B EkAR) s=1:50 REE R (BEIR) s=1:50
[AX=F] [B=FA]

3,000 3,000

2,500 2,500 25

$45) | (RC-40) Bk AR (t=22mm) DL=240. 00

Bkt Q
V=2. 2m2 {RE% BB (B8%MR) L=44. Om 515 / 209

PHIFBABRMKE (FHBFBATE~268K4)
#ADH

HE4 | RERHETAR

I%4
$% 4R (t=22mm)

4,500

REAB | S & A =]

s R = | HEES

=44 | CERIHYRFRAREES

EHBHE B = &




